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(1) Use mesh_analysis to find the current I in the circuit of Fig. 1.
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Figure 1

(2) Using_Norton’s theorem, find Norton resistance R, and

Norton current I | of the circuit in Fig 2 at terminals a-b.
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Figure 2

(3) In the parallel circuit of Fig. 3, find v(¢) for > 0, v(0) = V= 5V,
i(0)=1,=0A,R=5Q,L=1H,and C=10 mF,
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(4) Determine the rms value of the current waveform in Fig, 4.

If the current is passed through a 2-Q resistor, find_the average
power absorbed by the resistor.
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Figure 4

(5) For the s-domain circuit in Fig, 5, find: (a) the transfer function
H(s) = VolVi, (b) the impulse response,.
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Figure S




